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CHOOSE CORRECT ANSWER
1. LOOP TRANSFER FUNCTION IS GIVEN BY:
a.   G(S)
 b.   H(S)   
c. G(S)H(S)  
d. G(S)/H(S)
2. AS PER NYQUIST STABILITY CRITERION  FOR STABLE SYSTEM ,THE NO OF ANTICLOCKWISE  ENCIRCLEMENTS   AROUND (-1,j0)  IS :
a.   N<0
 b.  N=P-Z 
 c.  N=Z-P 
 d.  N=0
3. SINUSOIDAL TRANSFER FUNCTION IS OBTAINED BY :
a. REPLACING, w BY jw IN T(S)
b. REPLACING, S BY jw IN T(S)
c. REPLACING, j BY jw IN T(S)
d. REPLACING, S BY  w IN T(S)
       4     IN LEAD COMPENSATOR: 
a.   POLE IS NEAR TO ORIGIN  COMPARED TO ZERO
 b.  ZERO IS NEAR TO ORIGIN COMPARED TO POLE  
 c.  POLE AND ZERO ARE ON JW AXIS 
 d.  POLE AND ZERO ARE AT ORIGIN
4. THE TRANSFER FUNCTION OF PID CONROLLER IS:
a. + s
b. + s
C. s
d. + s


